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1 Intermediate Algebra Test 1 Review Sheet

Order of operations: There will be 10 of these questions on your test

——

36+(9-4)+5+15+5= 36+9-4+(5+15)+5=
3, 2BV oS0 = %=q.U4+(20) =5 =

1+5+ 3=\ He4 42025 =
o +4={20]

7162+66-16 = SHYEPL T 5o = k [B0—(4+4)+ 2]+ (22 +11) =
S (20-(8)-2] = (a)-

@*"‘lj =34 =
217
2b=¢ 917

Fractions: There will be two problems with fractions for each math operation

- \
2,40 B 1 Sl iia bl o
3 10 _ 12 15 /{7 16" i, 2.

‘ 4 Cj\-’ i“, 2;(3 1 ,.—t: ’,..‘:L = g;—‘—- : 5

3) T30 | 30 | bo Lo Lo o)

7

120 ]
N 3. 11 Ty B | 5
7714 g 40 8 %0 2;1 1_\ 1/5’ i

R S

. A/(I, 3 2 %L > S
o4 = 9 L C 7
HoH ] Ty AR K ¥




Solving by substitution: There will be 10 of these questions on your test.

Evaluateifa=3,x=2,y=5,andz=4 ]
3x+4z= 6(z-x) = 5xz + 3y =
AZ) vHW) = bly2) - = )=
A O+ 5= V,
GHib = 72 b(2)=\17] e 0]
d(xy +z) = axz+ (2y) = 2y—[da+ (x+1)]=
} 57 , o)
B(25 +4) 2(6) v[’.{ (3 -2+)]=
Y LIO ) iR ) ‘ET W= [lZ N ?)j —
p f = ot P ) P
(=2 7(/) 1O Xs 0-Y = (j(
Finding solution (s) with given domains: There will be 10 of these questions on your test.
L
Find all solutions if x € {0, 1, 2, 3, 4}
X+4=8 3x=12 5x=0
— ] "y
Y‘:L{g w1l jn———
" ’X/L/(\c [ X= D]
i .
4Ax =X -4 X(X'—3)=O

Lastly, there will be 2 word problems on your test. One will require you to substitute.

A dozen eggs cost $1.56. What is the cost of one egg?

.13
2 \1.58

©




ohn and Amy
John contribut

.

I I\JD

r money together to buy a birthday present for their fri

decided to put thei
did each person spend?

ed $5 more than Amy. How much money

end

. Together they had $29.




